Subject: Re: minor glitch in total()
Posted by Craig Markwardt on Fri, 01 Aug 2003 15:00:39 GMT

View Forum Message <> Reply to Message

t.osborn@uea.ac.uk (Tim Osborn) writes:
> |DL> b=total(a,/cumulative,1)

>

> Segmentation fault (core dumped)

This command segfaults under Linux IDL 5.4, but not 5.5 or 5.6. Looks
like the bug was fixed in a future release, but that probably doesn't
help you, since | think IDL was discontinued for OSF around that time.

Good luke,
Craig

Craig B. Markwardt, Ph.D. EMAIL: craigmnet@cow.physics.wisc.edu
Astrophysics, IDL, Finance, Derivatives | Remove "net" for better response
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